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run_13089025 FGT _RMS 1, Timebin=2,Disc=1,asmb=1AB

Thu Mar 29 08:59:19 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

RMS (ADC-ped)

300

250

200

150

100

50

[ ADC RMS for RDO=1,ARM=0,APV=18 "}

RMS (ADC-ped)

220

L i i i
20 40 60 80 100 120
APV channel

200 =

180

160 =

140

120 =

100

8 [=

60

40 B

20
0

RMS (ADC-ped)

250 [

1
120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=20 _}

RMS (ADC-ped)

180

160

140

120

100

80

60

40

20

0

i
120
APV channel

=

°'I1I|I |'H FITITT I'I1|IH|'I1I|IH‘|1I

[ ADC RMS for RDO=1,ARM=0,APV=21 "}

RMS (ADC-ped)

100

APV channel

APV channel




run_13089025 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Thu Mar 29 08:56:54 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

40
5
8}
a)
<
10
1
[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

Bo?
[
%)

a)
<

o~

1000 2000

[ADC for FGT RDO=LARM=1APV=2 }

3000 4000

raw ADC

ADCped

1000 2000

[ADC for FGT RDO=1,ARM=1,APV=3 }

3000 4000

raw ADC

ADC‘pgd

0 1000

[ADC for FGT RDO=1,ARM=1,APV=4 }

3000

4000
raw ADC

1000

3000 4000

raw ADC

[ADC for FGT RDO=1ARM=L,APV=0_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r!1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=1,APV=1

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=2 }

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 f=—
=
1500 f=—
1000 f=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 }
= 4000 p—
5] = H 5
s =
Q 3500 F=— acha socdlclle
< =
3000 f/— sohoodbodloclcls
2500 & FPR U A S

2000

1500

1000

500

0

=
=
=
i
=
=
=
—
=
=

0

20 40 60 80 120

APV channel

[ ADC for FGT RDO=1,ARM=1,APV=4 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

. 3 .0 . e EAa

APV channel

10°

10"

10

10"

10°

10"

10

10"

10

10"




run_13089025 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Thu Mar 29 08:58:46 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13089025 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Thu Mar 29 08:59:20 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

RMS (ADC-ped)

220

200 P=

180
160

140 =

120 =

100 =

80 k-

60
40
20

0

i
120
APV channel

RMS (ADC-ped)

220
200

180 |

160 =

140 =

120
100
80
60

40 E

20
0

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

RMS (ADC-ped)

400

350

300

250

200

150

100

50

0

Niilli I1II[I‘I1I|TI'I1|H‘I1|IH‘I]IHI'|1HI‘|

APV channel

[CADC RMS for RDO=LARM=L1,APV=3_}

RMS (ADC-ped)

450 =

400

350

300

250

200

150

100

50

0

i
120
APV channel

RMS (ADC-ped)

APV channel




run_13089025 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Thu Mar 29 08:56:58 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2DA

2,asmb

ISC=

in=2,D

47 2012

b
58

ime

Thu Mar 29 08

51

1,APV=!

run_13089025_FGT_MPV_1,T

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=6 .
=7}
8 ]
|

1,APV
1,APV
1,APV:
1,APV

1,ARM
LARM:
1,ARM
LARM

1
il

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13089025 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Thu Mar 29 08:59:22 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13089025 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2AB

Thu Mar 29 08:56:59 2012

[ ADC for FGT RDO=1,ARM=1,APV=12 |

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=13 _§

ADGzped

0 1000 2000 3000 4000

raw ADC

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

AD%‘ped

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=1,APV=15

1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=1.APV=16 _§

AD%ped

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
oE—
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H H o o o
9 E e e T e B e S R P E PR R R TE SR T
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
EL Tl e B e A S R P PP PP PP PP
=
500 f=—|- - - EERREE
=
L L | ST BT TS e
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
9 3500 L TR R T .-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13089025 FGT MPV_1,Timebin=2,Disc=2,asmb=2AB
Thu Mar 29 08:58:47 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13089025 FGT _RMS 1,Timebin=2,Disc=2,asmb=2AB
Thu Mar 29 08:59:22 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

= =
g =
5 N =
=] |
< 80 fr—
2 =
3 70 H=
=
60 P
EH
50 ]
=
40
30 p=—"""
=
20 f=—
10 B=—
= i
0l 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

= =
g‘ 220 r—
3 200 f=—
< =
@ 180 =
2 =
x 160 F=—
140 f=——
=
120 f=—
=
100 f=—
80 f=——
60 Py
=
40 =
20 =
= H -
0% 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

300 j [1 - foooooaoeosasessesansadbansoscsassasananasasadbosassasananasanacacsad N

RMS (ADC-ped)

250 fr - 15 fhcococococococococococdpocococacocooooo000000dboooo0000000000000000ag foccooos
200 -+ T PP PP PP PP PP PP PP PP TS ERTPREE
150 |- P PP PP PR R

100 5 188 Bco5059505050505050500db000005050500000000000050000000000000000000003 .-

50 -- 1 HR T B B S R TR R 1 5 B

i
120
APV channel

160
140 =

120

RMS (ADC-ped)

100

80

60

40
L

20 £

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=16 }

400 =

350

RMS (ADC-ped)

300

250

200

150 |

100 [

50 E

i .
120
APV channel

0




run_13089025 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2AB
Thu Mar 29 08:57:03 2012

[ ADC for FGT RDO=1,ARM=1,APV=17 |

-ped

[ 1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1.ARM=1.APV=18 |

ADgped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=LARM=LAPV=19
—

ADOzped

0 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=1,APV=20

ADCped

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT

p=
T
<]
11
=)
|
b

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=19 }

1
120
APV channel

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=—- e e - ..
% =
3000 f=—|- - - - - - - ..
=
2500 f=—1- - - - - - - .-
=
2000 = PR
=
1500 =+ - - - - - - .-
1000 p=—|- - --- - - .-
=
500 f=— e - - - e e ..
=
= =
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P dooas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdoace .
1000 P=—|- - {- -t -r-- - dqe b g e
= 2
= 2
500 =t~ - 4= - or e es e p e e s
= 8
Of—|-A-q--r-t-refmaqrmepe] ] - e
= 5
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13089025 FGT MPV_1,Timebin=2,Disc=2,asmb=2AB
Thu Mar 29 08:58:48 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

i i i i
20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13089025 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB
Thu Mar 29 08:59:23 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

50 =
o i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

400
350
300
250
200
150 —

100

50

1
9 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

RMS (ADC-ped)

350
300 f—
=
250 f=——
200 p—
=
150 f—
100 f=
50 %|
i
® 20

APV channel

RMS (ADC-ped)

300 = O T EEE T EEEED LT KEEE TR T T KEEEEEE e EEEErEE

------ oo

0

50

i
120
APV channel

°'HH-1]111I
=
—

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

RMS (ADC-ped)

e

. . . i . . . i
80 100 120
APV channel




run_13089025 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Thu Mar 29 08:57:07 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

.
2
Q

a)
<

2000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

ADCrped

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

AD%‘ped

0 1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

ADC-ged

0 1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

= 4000 p—
5] = .
o = :
Q 3500 |- - {1 f - EESE B EYERE | EPEEER] | PRy PR PP
< =
3000 f=—|- - 91 f - - 1 SEEE B B EEE | EEE EERY 1 SRR EE R
= 1
=
2500 =g+ - 1=t - o50i|e|iepeaqpagess|fiZooecagesfpeossese
= 2
2000 f=t—|- - 4= 1< f -0 - 1 SEEE Y B EEE | EEE EER 1 SRR EE R
= 8
1500§ EEEEEE N PP EEEE B BYEEE £ EPEEER | PEEEEEE PR PP o
1000 P=t—|- A= 41 -f - - - 1 EFEE B BUEEE £ EPE PR | DEEEEEE PR PR
= 2
500 fet—|- (-4 -4 -} ---- ] casl|o|lobecdfpadossllEocscadscltescscas
= 2 5
= H n
(= o R EECTE SRR 58 B B £ PR T | PR B EERRE
= : : : : : : 107
= 1 1 1 1 1 1
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=1 }
- 4000 p
g = 2 2 2 2 2 2
9 3500 f=— |-
< =
3000 f5— -
2500 f— - 1
L
2000 fF— -
=
1500 f— -
1000 fE— - 10"
=
500 =
o
0 f— 4~
b= . . i . . . i . . i . . i . . . i . . . i . 1072
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=2 "}
- 4000 py
] = . . . .
g = 2 2 2 2
Q 3500 f—+ - {-{-}-F-f -4k -t-
2 =
3000 [l - {-{-}-F-f -2k -t-
= 1
2500 pE—-A-{-1-}-F-F 424 F---- - t-
=
2000 [ -
=
1500 B 4-1-1-f-r- - 1 o SEEELE ==
= 10"
1000 B A-4-1-f-r-F - 241 -p - -e - “t-
L
OV = O B X Y S O EEE | PR PP adha
rm
)= A-t-F- - - P
= -2
1. 1 1 1 1 1 w
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=3 }
- 4000 p—
5] =
oo =
Q 3500 F= -
< =
3000 = |- 1~
2500 = - 1- 1
2000 f=r— - 1
=
1500 = -
1000 = -1 - 10"
=
500 f=— |- 1+
=
ofE—1-
=
;= 10?
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=2,APV=4 l
- 4000 p - - - - -
o =
9 3500 |- - - - - - - N EEEET EEE B LR RS T o T R EEEEE
2 5
3000 P~ - - -- Apoeoeiless|idredpye=zqee pp=seo S EEEL i EEELELE 1
2500 - - - - - - dbacacloac|ldbadpdescdca bdbosas o
rm
2000 |- - - - - - | S EERY I T B R A PR R
=
=
1500 fEH—|- -+ - - - B SRR EERY Bl TE PE P o Speeens 10t
i=.
1000 pF—f- - - - - - N EEEEY EEE) B LR RS T o T R EEEEE CE Y EEL
=
500 pF—|- - - - - - - N EEEET EEE B S LR RS T o T R EEEEE
=
L= o B i el il e el et J e Hroegeween i 2 10?
Bl . . . . i . i . i . i . . i .
0 2 40 60 80 100 120

APV channel




run_13089025 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Thu Mar 29 08:58:50 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13089025 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Thu Mar 29 08:59:24 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

250

u
s0 B A
E |-|
L i i
® 0 100 120
APV channel
[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

1 " " " 1
100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

350

300

250

200

150

IIITI'H IH‘I]1HI‘|11II[I‘I1I|HI‘I]IIH

[CADC RMS for RDO=1ARM=2,APV=3__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

250 |-
200 f
150 [
100

50 [

120
APV channel




run_13089025 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Thu Mar 29 08:57:10 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

ADC-ped

[ADC for FGT RDO=1,ARM=2,APV=6 }

il
[ 1000 2000 3000 4000

raw ADC

ADCrped

0 1000 2000 3000 4000

[ADC for FGT RDO=1LARM=2,APV=7 }

raw ADC

ADCApgd

0 1000 2000 3000 4000

[ADC for FGT RDO=1,ARM=2,APV=8 }

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=9 }

2000 3000 4000

raw ADC

ADC1ged

LI
0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

© AR R R A

[ ADC for FGT RDO=1,ARM=2,APV=6 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=7 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

" 1
100 120
APV channel

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|r|1 I|‘I1II‘|1 T

[[ADC for FGT

Py
]

O=1,ARM=2,APV=8_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=2,APV=9 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

APV channel




run_13089025 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Thu Mar 29 08:58:51 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13089025 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Thu Mar 29 08:59:25 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

350

300 f/—

250

200

150 [

100

50

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

RMS (ADC-ped)

400

350

300

250

200

150

100

50

0

TR H'I1|HI1]HI‘I]IHI'|1IH|

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=7 }

RMS (ADC-ped)

i
120
APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

RMS (ADC-ped)

350

300

250

200

150

100

50

0

°‘I'I11_1rH:h FEFFTTA{TT IH|||||||

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

RMS (ADC-ped)

250

200

150

100

50

i . . . i
100 120
APV channel

°'H1'I'H41'I"H1'I' FITT II1'I'II1




run_13089025 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Thu Mar 29 08:57:14 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13089025 FGT MPV_1,Timebin=2,Disc=3,asmb=3AB

Thu Mar 29 08:58:52 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13089025 FGT _RMS 1,Timebin=2,Disc=3,asmb=3AB
Thu Mar 29 08:59:26 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13089025 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB

Thu Mar 29 08:57:16 2012

ADC for FGT RDO=1ARM=2,APV=17 _§

ADCyged

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=2,APV=18 _§

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=2,APV=19
—

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=20

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=21 _§

2

ADOpeg

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=2,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=19 }

4000

" 1
100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

L0 LN L A A L LA K A i

[[ADC for FGT RDO=1,ARM=2,APV=20 }

4000

80

APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AT AR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=21 }

40

80

100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
ke
=
=
1500 [
=
o
=
=
rm
=
=
0

APV channel




run_13089025 FGT MPV_1,Timebin=2,Disc=3,asmb=3AB

Thu Mar 29 08:58:52 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=19 |

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i
100

-500

20 40 60 80

APV channel

MPV (ADC-ped)

-500

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

i
120
APV channel

20 40 60 80 100

MPV (ADC-ped)

-500

PRTTITH

20 a0 0 a0
APV channel




run_13089025 FGT _RMS 1,Timebin=2,Disc=3,asmb=3AB
Thu Mar 29 08:59:26 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

400 p=

350

RMS (ADC-ped)

300 [

250 [

200

150

100

50

ORI FEPEFTE '|1

i
120
APV channel

0

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

1
120
APV channel

350

300

RMS (ADC-ped)

250

200

150

100 —

50

0

SHTHETT

APV channel

[ADC RMS for RDO=1,ARM=2,APV=20 _}

400 |

350

RMS (ADC-ped)

300 [
250 =
200 |
150 fr

100 f=

50 |

0
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

400 =

350

RMS (ADC-ped)

300
250
200

150

100 =

50

i
120
APV channel

0




run_13089025 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Thu Mar 29 08:57:19 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




run_13089025 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Thu Mar 29 08:58:53 2012

[ADC MPV for RDO=1ARM=3,APV=0_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=1,ARM=3,APV=1 }

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

500 fr—— - s .

-500

[ ADC MPV for RDO=1,ARM=3,APV=2 }

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3 APV=3 _}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13089025 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Thu Mar 29 08:59:28 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13089025 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Thu Mar 29 08:57:21 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=6 }

AD%ped

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1LARM=3,APV=7 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=9 }

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=3,APV=6 }

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B 0 L L0 L L LD LA i

[ ADC for FGT RDO=1,ARM=3,APV=7 }
4000

1
120
APV channel

3500

ADC-ped

3000

2500

2000

1500
1000

500

0

[[ADC for FGT RDO=1,ARM=3,APV=8_}

40 60 80

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=3,APV=9 "}

40 60 80 120

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

R i IE RN AR RIGRN AR RGN RN AT E AR ATENATRNAT]

APV channel

.. .A o0 e . d A

10

10°

10°

10"

10

10"

10

10"

10°




run_13089025 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Thu Mar 29 08:58:53 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13089025 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Thu Mar 29 08:59:28 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

RMS (ADC-ped)

90

80

70

60

50

40

30

20 i

10

0

o

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=6 }

RMS (ADC-ped)

240 (=

220

200 =
—

180

160 =

140
120
100
80
60
40
20
0

120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=7 }

RMS (ADC-ped)

500

300
200 [

100 f

R

i i i
40 60 0 100 120
APV channel

RMS (ADC-ped)

80

70

60

50

40

30

20

10

0

i
120
APV channel

°11|r|-|1|r|-|11r[|-m ;

[ ADC RMS for RDO=1,ARM=3,APV=9 "}

RMS (ADC-ped)

APV channel




run_13089025 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB

Thu Mar 29 08:57:25 2012

ADC for FGT RDO=1ARM=3,APV=12 _§

o
3
5
%)
a
<
10
1000 2000 3000 4000
raw ADC
[[_ADC for FGT RDO=1.ARM=3.APV=13 |
o
20
%)
a
<
10

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=LARM=3,APV=14 _§
—

I
3000 4000
raw ADC

i i
1000 2000

[ ADC for FGT RDO=1,ARM=3,APV=15

ADC1ged

1000

2000 3000 4000

raw ADC

[[_ADC for FoT RDO=1,ARM=3,APV=16 _§

0 1000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

= 4000 p—
] = . . . . . .
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
ofE—
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=13 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=—--1-----
< =
3000 f=—r-q--- -
2500 fm— - - 4= -
2000 fm— - - {-----
=
1500 f=— v -4 - - -
=
1000 f=— - - {- - - -
=
500 fm— -+ - - -
=
O F—efreee
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— i .
% =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhzas
=
= e
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=3,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 p=—- - -
=
=
500 fp=—- - -
=
ofE—---
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13089025 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Thu Mar 29 08:58:55 2012

[ADC MPV for RDO=1ARM=3,APV=12_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=13 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=14 |

MPV (ADC-ped)

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13089025 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Thu Mar 29 08:59:29 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

100 f

RMS (ADC-ped)

80 |-

60

40

°-|-|-|-|-|-|-r]-r1-r|-

F I e N T ¥ B R R LR P HLE ) 1 B [ B I s e o 1 S A
o . i . . . i .
20 40 60 80 120
APV channel
[ ADC RMS for RDO=1,ARM=3,APV=14 "}
= 80 = e e MR R e MR T
-3 =
2 () e LR PR EEEE PR | EEEETSTEEL PEEEEEPEEEERTEEE £ O
< =
2 60 - - ek b T e
o
50 f—-tFy g e e e B T R et e

40

30

20

10

i
120
APV channel

RMS (ADC-ped)

APV channel

| ADC RMS for RDO=1,ARM=3,APV=16 }

200 =
180 f=

160

RMS (ADC-ped)

140 k&
120 f—
100 f—
80
=
60

40
20 =

0

APV channel




run_13089025 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Thu Mar 29 08:57:28 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13089025 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Thu Mar 29 08:58:56 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13089025 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
Thu Mar 29 08:59:30 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13089025 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Thu Mar 29 08:57:30 2012

[ADC for FGT RDO=1,ARM=4,APV=0 }

[ ADC for FGT RDO=1,ARM=4,APV=0

2000 3000 4000

[ADC for FGT RDO=1,ARM=4,APV=1 }

- 4000 p—
Q =
) =
] 3500 s f e
& =
3000 fm— - s e e e
= 1
2500 = g
=
2000 f— - s feeeenns
=
T500] [N | PR
= 10"
1000 Pm— e v e euenn
=
=
500 - s feennnn
=
=
Of— -t
= o o o : : : o
1 1 1 i ; ; ;
0 20 20 o0 L e L
s APV channel

[ ADC for FGT RDO=1,ARM=4,APV=1

ADGzped

0 1000 2000 3000 4000

[ADC for FGT RDO=LARM=4APV=2 }

= 4000 p—
] = . . . . . .
5 = :
8 3500 f=— == --t----- LU EEL I EEELE B
< = : : : :
3000 P=— == t----- Focgqesofpsosss B
= . 1
2500 fm—v{- == - e en EEEEE T SEP RS
2000 fm— - - --t----- EEEEE ) EEEE
= o
1500 = v|= s = np e s EEEE S EETY PR R o
= . 10
= 8
1000 f=— vf- - = e m s EEEEE EEE PR Sfete
= 8
500 fm— .-
= 2
= H H H H H H a0
= . i . . i . . i . i . . . i . . i
0 20 40 60 80 100 120
raw ADC APV channel

[ ADC for FGT RDO=1,ARM=4,APV=2

ADOzped

0 1000 2000 3000 4000 20 40 6 80 100 120

[ADC for FGT RDO=1,ARM=4,APV=3 }

ADC-ped

aEldENATERIAGNATGRAARNAGRARRIATENATRNATENAG]

raw ADC APV channel

[ ADC for FGT RDO=1,ARM=4,APV=3

ADCrged

[ADC for FGT RDO=1,ARM=4,APV=4 }

|
0 1000 2000 3000 4000

4000

3500

ADC-ped

3000
2500 f=
2000
1500
1000

500

0

raw ADC APV channel

[ ADC for FGT RDO=1,ARM=4,APV=4

ADCrped

0 1000 2000 3000 4000

4000

3500

ADC-ped

sooollcocoooad )

3000
2500 R .-
2000

1500

sooollcocoooad -

1000

500

0 CERES EREEERER - frees

4000
3500 ffp—{-{-{--- R PR oo q-tot--
3000 fEF—{-{-{--}- R PR oo q-tot--
1
2500 fof— - {-1-- - : : e PR B EE R
2000 -t - -4 B
1500 fF— |- {-{- -+~ o R I ER R
10"
1000 fFF— - {-{--+- o R I ER R
500 fF— - {-{--+- R PR oo q-tot--
0 5 5ol =dla ST
-2
i i i i 20

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

raw ADC APV channel




run_13089025 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
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run_13089025 FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
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run_13089025 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13089025 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Thu Mar 29 08:59:31 2012
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run_13089025 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13089025 FGT _RMS 1, Timebin=2,Disc=5,asmb=5AB
Thu Mar 29 08:59:32 2012
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run_13089025 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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run_13089025 FGT _MPV_1,Timebin=2,Disc=1,asmb=1BC
Thu Mar 29 08:59:00 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13089025 FGT _RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13089025 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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run_13089025 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Thu Mar 29 08:57:50 2012

ADC for FGT RDO=2,ARM=0,APV=12 _§

ADC-ped

1000 2000

3000
raw ADC

4000

ADC for FGT RDO=2,ARM=0APV=13 _§

2

ADOpsg

2000

1000 3000 4000

raw ADC

[ ADC for FGT RDO=2.ARM=0.APV=14 ]
—

ADCiged

1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=15

1000

2000 3000 4000

raw ADC

[__ADC for FGT RDO=2,ARM=0.APV=16 _§

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=13 "}

= 4000 p—
] =
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=— -
< =
3000 f— -
2500 =
2000 f=—- ==+
=
1500 f=—— -
1000 f=—-- - - - -
=
=
500 fpm—------
=
ofE—-eseen
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=0,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 <411
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13089025 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD
Thu Mar 29 08:59:02 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

MPV (ADC-ped)

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=16 }

MPV (ADC-ped)

-500

1 1 1 1 1 Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13089025 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Thu Mar 29 08:59:36 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

350

300 f=

RMS (ADC-ped)

250

200 [

150

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

240
220 =
200 =
180 =
160 f=——
140 P=

120
100
80
60
40

20 =
o =
0

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

100 f

RMS (ADC-ped)

80 F
@ | B EL e iR d b Hlaeesnadhaccanscanasasnzaaadl|f|scanscsnanssccanadHs dhancaassanasasaasadbad[l|caascanadHbocaassacf|eoasasnansssb|lascanacdhocaanss

40 |

20 [

i
120
APV channel

180
160 p——

140 |

RMS (ADC-ped)

120
100
80 f—

60 k&

40

20

i
120
APV channel

0

| ADC RMS for RDO=2,ARM=0,APV=16 }

160

140

RMS (ADC-ped)

120 fr

100 fr

80

60

40

20

i
120
APV channel

0
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